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Change 1

	Test Case  Name
	12.2.1.3, ts_SetMCC_VPLMN_Band6

	Reason for change
	Test case 12.2.1.3 is a two PLMN test case, in which the Cell B should be mapped to Cell D, which has to be created on different PLMN according to 34.108 clause 6.1.4.1. In the current implementation, for Band 6, we use px_JapanMCC for MCC values of cells. Hence both the cells are assigned the same PLMN, due to which UE is unable to select Cell B and hence the test case fails.

	Summary of change
	In test step ts_SetMCC_VPLMN_Band6, in local tree lt_AssignMCC_ToJapan, after Line No:20, if the earlier MCC value is equal to that of  tsc_MCC_2, MCC of the cell is assigned new value ‘443’H.


Before:
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Change 2

	Test Case  Name
	12.4.2.1

	Reason for change
	At Step No: 8 of the test case execution, when UE tries to do a Routing Area Update to the Cell B, Routing Are Update Accept message should contain the new PLMN and RAI values that is of Cell B. But according to the current implementation, in local tree lt_RAUpd_Steps_7To9, Line No: 37, default values are being sent which doesn’t match in case of Band 6 and hence the UE fails the test case.

	Summary of change
	In Local tree lt_RAUpd_Steps_7To9, Line No:37, replace the values tsc_MCC_Def, tsc_MNC_Def, tsc_LAC_Def, tsc_RAC_2 with tcv_CellInfoB.mcc,  tcv_CellInfoB.mnc, tcv_CellInfoB.lac, tcv_CellInfoB.rac respectively
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Change 3
	Testcase Index
	ts_InitVariablesInterBand

	Reason for change
	As per current TTCN implementation, for the inter-band testcases it is possible to use same band value for both primary and secondary band and the testcase is passing with this setting (which is an incorrect PASS). To resolve this issue it is proposed to put a check in the TTCN, which will assign an Inconclusive verdict if same band is selected for both primary and secondary band.

	Summary of change
	The test step ts_InitVariablesInterBand is modified to add a condition check for band selection.

	Source of change
	


Before:


[image: image5.png]Test Step

[TestSten 10

ts_InitvariablesinterBand (
p_Cellld INTEGER ;
p_OperationBand : INTEGER
)

Test Step Group Ref: RRCM_InterBand/

Objctve 7o niaise el parametrsfor ferband estng

Detauts 55.Def

G

[ BT Sehavou Desapton T comstarirer || vewsr ] S

1 +_GhekPrimanBscondaryBands

2 +1s_CheckOperationBandUnderTest ( p_OperationBand )

3 +1s_SetTmpCellinfo (p_Cellid )

4 {tev_TmpCellinfo.band := p_OperationBand )

5 +ts_SaveCellnfo (p_Cellld )

6 +ts_AssignFrequency (p_Cellld,p_OperationBand )

7 +1s_AssignOperationBand ( p_Cellld, p_OperationBand )

8 +ts_SetMCC_VPLMN_Band6 ( p_Cellld )

Y CheskerimanscondanBands

El [({ px_PrimaryBand = §) AND (px_SecondaryBand = 6)) OR Bands 5 and 6 are incompatible bands.
({ px_PrimaryBand = 6 ) AND (px_SecondaryBand = 5)) ]

10 [ px_PrimaryBan JAND (px_SecondaryBand = 4 )) OR Bands 1 and 4 are incompatible bands.
(( px_PrimaryBan JAND (px_SecondaryBan n

" [({ px_PrimaryBand = 3) AND (px_SecondaryBand = 8)) OR Bands 3 and 9 are incompatible bands.
({ px_PrimaryBand = 8 ) AND (px_SecondaryBand = 3)) |

12 [ px_PrimaryBand = 1) AND (px_SecondaryBand = 10)) OR Bands 1 and 10 are incompatible bands.
((px_PrimaryBand = 10 ) AND (px_SecondaryBan nl

13 [ px_PrimaryBand = 4) AND (px_SecondaryBand = 10)) OR Bands 4 and 10 are incompatible bands.

14

((px_PrimanyBand = 10) AND (px_SecondanBand = 4)) |
[TRUE]





After:
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Change 4

	Test Case  Name
	6.2.1.8a.1, lt_LocalTest, lt_PO_G_SS_Releases

	Reason for change
	If the test case fails due to incorrect cell selection by the UE in local tree lt_LocatTest, 

1) In local tree, lt_StepsGtoH, UTRAN cells C, D and GSM Cell C are created. The test case execution would not proceed to the local tree in this case and later on, when the execution continues further on to Line No:17 of the test case, local tree lt_PO_G_SS_Releases is executed which release GSM CELL C which is not at all created in failure case which is incorrect implementation

2) GSM CELL A would not be released at all in this case

	Summary of change
	1) In local tree lt_LocalTest, after call for local tree lt_StepsGtoH, add po_GSM_SS_CellRelease(tsc_GSM_CellC) to call release of GSM CELL C after Line No: 40

2) In local tree lt_PO_G_SS_Releases, remove the call for release of GSM CELL C in Line No: 96.

3) Add +po_GSM_SS_CellRelease(tsc_GSM_CellA) to release the GSM CELL A after Line Nos: 25, 26, 27, 28, 30,31, 32, 33.
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Change 5

	Test Case  Name
	6.2.1.8a.2, lt_LocalTest, lt_PO_G_SS_Releases

	Reason for change
	If the test case fails due to incorrect cell selection by the UE in local tree lt_LocatTest:

1) In local tree, lt_StepsGtoH, UTRAN cells C, D and GSM Cell C are created. The test case execution would not proceed to the local tree in this case and later on, when the execution continues further on to Line No:17 of the test case, local tree lt_PO_G_SS_Releases is executed which release GSM CELL C which is not at all created in failure which is incorrect implementation

2) GSM CELL A would not be released at all in this case

	Summary of change
	1) In local tree lt_PO_G_SS_Releases, remove the call for release of GSM CELL C in Line No: 83

2) In local tree lt_LocalTest, after call for local tree lt_StepsHtoK, add po_GSM_SS_CellRelease(tsc_GSM_CellC) to call release of GSM CELL C after Line No: 32

3) Add +po_GSM_SS_CellRelease(tsc_GSMJ_CellA) to release the GSM CELL A after Line Nos: 22, 23, 24
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Change 6

	Test Case  Name
	6.2.1.8a.3, lt_LocalTest

	Reason for change
	If the test case fails due to incorrect cell selection by the UE in local tree lt_LocatTest:

1) In local tree, lt_StepsGtoH, UTRAN cells C, D and GSM Cell C are created. The test case execution would not proceed to the local tree in this case and later on, when the execution continues further on to Line No:17 of the test case, local tree lt_PO_G_SS_Releases is executed which release GSM CELL C which is not at all created in failure case which is incorrect implementation

2) GSM Cells A, and B would not be released at all in this case

	Summary of change
	1) In test case, remove Line No: 17, call  to local tree lt_PO_G_SS_Releases to release GSM Cell C, to avoid GERAN ERROR in case the cell is not configured at all.

2) In local tree lt_LocalTest, after Line No: 33, call for local tree lt_StepsGtoH, add the local tree lt_PO_G_SS_Releases to release GSM Cell C after Line No: 32

3) Add +po_GSM_SS_CellRelease(tsc_GSM_CellA) and +po_GSM_SS_CellRelease(tsc_GSM_CellB) to release the GSM Cells A and B each time after Line Nos: 25, 26, 27
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Change 7

	Teststep Index
	ts_SHO_SS_ReconfDCH_E_HS_ToDCH_E_HS_CPC

	Reason for change
	After sending the Physical channel reconfiguration message at step no: 9 of the testcase Cell 2 will be configured as Cell_EHS state whereas cell-state is assigned as cell_DCH_E_HS which is wrong.

	Summary of change
	At line no: 10 of the teststep pass the second parameter as cell_E_HS instead of cell_DCH_E_HS.

	Source of change
	


Before:


[image: image27.png]1"

12

+1s_SetTmpCellinfo ( p_NewCellld)
+ it_ConfigNewcsll_FDPCH_E_HS
+ ts_SeiCellCiu p_NewCelld, cell
HS)
{ov_TrpCellinfo DL_DPCH_SHO:
=FALSE)
+15_SaveCellinfo (p_NewCellld)

DCH.





After:


[image: image28.png]+ts_SetTmpCellinfo ( p_NewCellld)

i
{tev_TmpCellinfo.DL_DPCH_SH

ALSE)
+ts_SaveCellinfo (p_NewCellld)

Anite_82658




�PAGE \# "'Page: '#'�'"  �� � HYPERLINK "http://www.3gpp.org/ftp/Information/DocNum_FTP_structure_V3.zip" ��Document numbers� are allocated by the Working Group Secretary.   Use the format of document number specified by the � HYPERLINK "http://www.3gpp.org/About/WP.htm" ��3GPP Working Procedures�.


�PAGE \# "'Page: '#'�'"  �� Enter the specification number in this box. For example, 04.08 or 31.102. Do not prefix the number with anything . i.e. do not use "TS", "GSM" or "3GPP" etc.


�PAGE \# "'Page: '#'�'"  �� Enter the CR number here. This number is allocated by the 3GPP support team.  It consists of at least four digits, padded with leading zeros if necessary.


�PAGE \# "'Page: '#'�'"  �� Enter the revision number of the CR here. If it is the first version, use a "-".


�PAGE \# "'Page: '#'�'"  �� Enter the version of the specification here. This number is the version of the specification to which the CR was written and (normally) to which it will be applied if it is approved. Make sure that the latest version of the specification (of the relevant release) is used when creating the CR. If unsure what the latest version is, go to � HYPERLINK "http://www.3gpp.org/3G_Specs/3G_Specs.htm" ��� � HYPERLINK "http://www.3gpp.org/specs/specs.htm" ��http://www.3gpp.org/specs/specs.htm�.


�PAGE \# "'Page: '#'�'"  �� For help on how to fill out a field, place the mouse pointer over the special symbol closest to the field in question.


�PAGE \# "'Page: '#'�'"  �� Mark one or more of the boxes with an X.


�PAGE \# "'Page: '#'�'"  �� SIM / USIM / ISIM applications.


�PAGE \# "'Page: '#'�'"  �� Enter a concise description of the subject matter of the CR. It should be no longer than one line, but if this is not possible, do not enter hard new-line characters.  Do not use redundant information such as "Change Request number xxx to 3GPP TS xx.xxx".


One or more organizations (3GPP Individual Members) which drafted the CR and are presenting it to the Working Group.


For CRs agreed at Working Group level, the identity of the WG.  Use the format "xn" where �	x = "C" for TSG CT, "R" for TSG RAN, "S" for TSG SA, "G" for TSG GERAN; �PAGE \# "'Page: '#'�'"  ���	n = digit identifying the Working Group; for CRs drafted during the TSG meeting itself, use "P". �Examples: "C4", "R5", "G3new", "SP".


�PAGE \# "'Page: '#'�'"  �� Enter the acronym for the work item which is applicable to the change. This field is mandatory for category F, A, B & C CRs for Release 4 and later. A list of work item acronyms can be found in the 3GPP work plan. See �� HYPERLINK "http://www.3gpp.org/ftp/Specs/html-info/WI-List.htm" ��http://www.3gpp.org/ftp/Specs/html-info/WI-List.htm� .


�PAGE \# "'Page: '#'�'"  �� Enter the date on which the CR was last revised.  Format to be interpretable by English version of MS Windows ® applications, e.g. 19/02/2006.


�PAGE \# "'Page: '#'�'"  �� Enter a single letter corresponding to the most appropriate category listed. For more detailed help on interpreting these categories, see Technical Report �HYPERLINK "http://www.3gpp.org/ftp/Specs/html-info/21900.htm"��21.900� "TSG working methods".


�PAGE \# "'Page: '#'�'"  �� Enter a single release code from the list below.


�PAGE \# "'Page: '#'�'"  �� Enter text which explains why the change is necessary.


�PAGE \# "'Page: '#'�'"  �� Enter text which describes the most important components of the change. i.e. How the change is made.


�PAGE \# "'Page: '#'�'"  �� Enter here the consequences if this CR were to be rejected. It is mandatory to complete this section only if the CR is of category "F" (i.e. correction), though it may well be useful for other categories.


�PAGE \# "'Page: '#'�'"  �� Enter the number of each clause which contains changes.   Be as specific as possible (ie list each subclause, not just the umbrella clause).


�PAGE \# "'Page: '#'�'"  �� Tick "yes" box if any other specifications are affected by this change.  Else tick "no".  You MUST fill in one or the other.


�PAGE \# "'Page: '#'�'"  �� List here the specifications which are affected or the CRs which are linked.


�PAGE \# "'Page: '#'�'"  �� Enter any other information which may be needed by the group being requested to approve the CR. This could include special conditions for it's approval which are not listed anywhere else above.





_1329305792

_1329306369

_1329290977

_1329291006

